a;_fﬂaismg ‘G]‘e_r,rr@uqés CIINCE udey

GT &t

2019
Qg Sifley

g@wdsstulHarer Crb : 2 werfl] [Qurés wHiQuerser : 200

damésEpsE ufloasgapear SpssarL Ifleymrasmar saaNLISL Ul &&Ea/LD

10.

11.
12.

13.

w&8w fleyersdr

Qb5 dlang QanEuy Caitey Asm_miGgeausn@ 15 Flill_fis@rée panaisns cSlamentiug Ty is@hs s euphsluHb.
Qb5 dlams QsrEly 100 ddamssmeas Qaram(Herarg). efenLwiaflss Qem_mi@apen Qeallamstsna@iind eraor
eflemés@nb euflenswins @)L b QupmeTeTaeur e EenLufld g CaDMISSTETEHET 2 GTaTENEU CTETLISWILD
sflunigss Aardrarayb. gGsaub Gepun® @mudear sigmer LgEH FIOL s EREGET J@psansraiiureriin
QsMeflsg, sflwrs 2 arer Cauprm efllems Agnr@llemer Qupps Qararar CauamBb. Cairey Apmhdw Qerny,
pepuilLre eflemd Qgn@liy wrpbld Syl wriL mg.
eroar elemss@ns@b el waflasa)b. erdem efleamaas@sbd swwrer wHUGuarser QaraTL@mea.
2 misEHaLwW ufley ararament @QbsL LsssHdr cuwg Cod ppawwlld pnbsa mwbgearer @)L sfd Briser
a1(ws Ceuarm(®b. Geugy eTeng b eflas QgnEGUSIRD eT(1P5E saL gy,
denLasmar GHSE sT_L aa, sl STET Qe 2 RIS EHEE NDns sansrafliuraTyrd sriu@n.
2 misEraL W dlams@stgly @Muiie (Question Booklet Code) eflenggraflen @rawmind usssHo
Sisnsa s@wbgae GLsdad fab sdwag smeow B ewvyeLw ussigpeeaens Cuandeand GhHsss
st_L. Ceauanm(®hb. Cupsar_ecupen eolloLgsreie prsdar Ghlsss sris sadlamd Csreureestw
siflefsamsuia GHlua Heraraunm pLeuysams CupQsrarariu®Bi.
aaGeunm eflemayd (A), (B), (C) wmmb (D) eren mren; eflentsanand Qaram(Bereng. Brusar seneusaiier Gy exm sfumen
aflan_enwis; Gairey Galg) eflen_ssnafler @hliags sm CouaHb. genmid@ Cuopu_L eflwner allanL_sar gm Cadralilss,
Amuugnss smHame frsar Bas sfluneg e aangs smEEDTEGCm Hs feeow el gsafldr @Hsss
sm_L Geuem(Hid. eruugwmigyd gm Cadrallsd ¢Cr am el amugsrar CoMmbosHEs Cammmp. 2 rhis@hmLIL
Quongs wHUCLansT frisar dllenL_spnaficr GHlEgs sm_[Hwb sflwren il safien cramarfidanaamu QUIMIESS).
Aanganaile gaidaunm Gsared aarafip@n adfidc @), @), ©) wipbd (D) e prens el L rusdr 2_dramar. gm
Caarallsg eflenLweflss Srisear sfQuen smgin fleLenu Cr gm aulLgHd wl P Fab oag smew Hip
awwysLw ubs et Cuamdamd @EhHisss sm L Caan®n. gaGanm CsaelEa@d ¢ oloLaus
CsipEs®ss e ssraie Ghés G, Caareils® gamsd Cupul L e welissnd ibs e
SUDTAHNES SHSULMHD. 2 gryemons Briser aatueng stlwner e winss smdlame siamg Gamaimomm
@558 s Geuam(Hid.

: oY JoXo

Brugar aflemns Glgarr@utﬁlm apsll ussSsLD BsaCaur ey SPsaCaur amirg. Csiey Corsde Qs
Gﬁlamg angu&mm@wn awa}gl cﬁlm%ﬁmm(:mn Csitays saL s el H Geuvafiude Gr@ggj& O&mwmurgj
el Geue

TEnaTs 5masrrmﬂuurrm|ﬂ|_w Qs

@;ﬁluusm apdl urriugh@ lems AsnEUlean seLfl LEESHHE e edrar ussgmﬁ e uCwrélsgs
Qanarerond. @oss saiy, dans Asrelbear aps QLsHb aps s GHlysmanyb AaliussaL Tg.
@b deyery seargiuns SaruppluL. Ceuar@Lb.

nfle algafld QsrRassiul Harar GHULSET STem 1Py eUTEISTNEGLD.

amemriiugnyisar efleLwellsasmod 2 dar elamssaflar Qunss aanmafldmamu e ggrafler ussn 2-6
<g5n0sa 2 Mw s 8o erpd Hlrtiuen. @snQsa s@g s pbs AL BisdT auprislu@Lb.

Cuopsarm. flayersaiia aegwraug Bhlemed Csranmeamub WiybauBEED HLaYsMESE@HEE 2_dTams
CpAlGuw eran Sifloynss LB EADS.

SEE BACKSIDE OF THIS BOOKLET FOR ENGLISH VERSION OF INSTRUCTIONS |
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1. Which of the following is correct?
4y pi-p™=14 | (B) p"+p=7

T (C) pf-P% g W p' 4+ p%H =14

Q@m@mmmg’o@m sflwumeng erg;?

(© p"-P%"=0 (D) pT+p®=14

2. Which of the following is the most essential element for the origin of life?
(A) Carbohydrates (B) Proteins
(C) Fats _ A Nucleic acids

ﬁls&reu@mmmg')gjeﬁf 2 WTECHTaTDEISE s GenBluemouinss argl ?

A vreyuGummse B) usaser
(©) Qsmupuiyd Qunm_ser D) Fwsefls sudleomser
3. Who was considered as father of white revolution?
(A) M.S. Swaminathan (B) A.M. Chakraborty
V. Kurien (D) Ian Wilmut

Qeuamrentols Ly Hulles shang eTend sH(HSILHUeT
A) M.S. seaumOprgen (B) AM. sesgunsd
©) V.sflwen - (D) e efflevin

B 3 - JSGS/19
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4. Most biodiversity hot spots are in :
(A) Trophical forests '
{C) Dry Shrublands

2 Wyerl Lreuede s ApnGen Peonbs uEH

(A) Qeulu warm_wé srHaer
(C) eupar L5MéQsy Heluriy

5. Match the following
(a) Food and water .
(b) Mosquitos & Houseflies
(© Clothes & Syfinges
(@) Droplets & Dust

Choose the correct answer

(@) (b) (© d)

Aa) 3 1 2 4
% 3 4 2 1

3 4 1 -2
D) 4 3 1 2
QummS IS,

(a) 2.exte OMID GRoTERIT
(b) Qasmswpmw F -
() sawh wHmD omé
@) as8le (=) sefgiel O grél
sflwrareupenn THSE) T(HTIE-
(a) (b) (©) d

(A) 3 1 2 4
B) 3 4 2 1
(Cy 8 4 1 2
D 4 3 1 2

6. Bolometer is used to measure

(A) Coefficient of thermal conductivity (B

(C) Specific heat capacity

(Bt Mountainous regions

Lol adl A e

BN

Wetlands

wawsd fenbs UGS
g BloluGHser

Fomite — Borne transmission

“Air — Borne transmission

Vechicle — Borne transmission
Vector — Borne transmission

Qungper eulfl SLSglHe0

snm e sLSgge0 |

S, Hrau srgand aufl sL_G5I50
sLSH aufl SLEH S0

thermo emf

. heat radiation

CunGer BCL_ard uwauBSS Blsaman alméﬁll_mm.b _
B) Qanwfllarafluseg allans
(D) Qaniua sfielss

(A) Qertius sLggis Hpen
©€) senQeulu gpusmen

JSGS/19
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Bal Gangadhar Tilak inaugurated the Shivaji’s festival in
(A) 1894 AD & 1896 AD
(C) 1895 A.D (D) 1893 A.D

LImeV e;rf,:‘a;rf;jrj dast 'Heursls Smpraner erbg 2L (H <iMlpsiLBES .
(A) 1894 A.D (B) 1896 A.D
(C) 1895AD S M) 1898°AD

Name the First Law Minister of India kR
(A) Sardar Patel JDI‘. B.R. Ambedkar

(C) Dr. Radha Krishnan ; (D) C. Rajagopalachari

Qndlwreller (s s L eivdsygns QurmiiGUHDeT wimT?
(A) &r'-r(éf,rrr'r U Gred _ (B) LrsLmiS.ey é{m@uga;fr

(C) LnsLitgrgn &peyemrer. ; (D) 8. @iy Carunemssmflwim

‘Hindu Dharma Pravardhini Sabha’ was founded by whom and in which year?
(A) Veer Savarkar 1920 A.D
(B)  Rajaram Mohan Rai 1896 A.D
- Madan Mohan Malvia 1906 A.D
(D) Eswar Chandra Vidyasagar 1900 A.D

: “(@‘T_‘F)g,j SITLD LJ-freur'rﬁlsnﬂ Fenll” GTEILD D{EMLOLIL| WITPTTE 6TThS <, ewT(h GSTL_msluL L &)7?
(A) & eeurssmt 1920 A.D
(B) @umsgm gmb Cuomser gmis 1896 A.D
(C)  wsen Curser wrevelwr 1906 A.D
(D)  mweveuy gndly eNsHuinsrast 1900 A.D

5 JSGS/19
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(a)
(b)
()
(d)

(A)

B)-
o
(D)

g I g uligwed IT o wen Gunmsgs :

(a)

()
©
(d)

@
®)
©
®)

JSGS/19

10. Match Last I with List 11 :

Tast I

India Councils Act of 1861

Royal Titles Act of 1876

Factory Act of 1851

Indian Councils Act of 1892

@ O © @

1 .3 2 4
3 4 2 1
1 2 4 3
3 1 4 2

UL igwied I

LBFws seyendler b 1861

Bpdw 6CsF Sips Guwr Apiy sl 1876

GsmPpsrerars sLLib 1881
@A sayedlo 6L 1892

@ O © @
1 -3 2 | 4

3 4 2 1
1 2 4 3
3 1 4 2

Tist 11
Lord Lansdowne

Lord Rippon

~Lord Canning

Lord Lytton

utigwer IT

CeaneGLme Ay

Ao Sry

- s&reflidny

Qe Gy



The volume of a sphere of radius ris obtained by multiplying its surface area by

(A)

(©)

w[e o |
_
>,
S
=

r b Qerar g Camarsdlen ST jemey, FT LFLILETOL 6T cTHmar (UmEEeuSanTe
- HleoLsdlng

4 | 5
O L
@ 3 ® L
4r
© I | D) 3
91.
Reduce —— into lowest term
J 17 29
29 ®) 17
92 oy 71
O D) 5
391 ] St
— ] i :
T aég‘ﬂ.u_l 2 MUUNG &(H&EGS
L7 29
@ 4 ® Z
© = o =

71 - 92

oy 1 R ]
Simplify {327{11—5[25_2_%.}

(A) 68 \() 78

(C) 42 | (D) 24
F(HHES [3%—{1%{—% [2%—%—%}}] .
(A) 68 ' B) 78
€ 42 D) 24
e, JSGS/9
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14.

15.

()

2

Find the H.C.F. of 9%, 18b%"*, 27c’a’®

VR

| 18
© 27
(D) 36

9a%?, 18b%?, 27c%a’ —an 5.QLm.cu sreis.

@A) 9
(B) 18
©) - 27
(D) 36

If 12 men and 16 boys can do & piece of work in 5 days. 13 men and 24 bbys can do
it in 4 days. The ratio of the daily work done by a man to that of a boy is '

W 21
® 3:1
© 3:2

514

12 vafllgisenw. 16 wrameuiseEpd GCaibg m Caimmew 5 wriseflds apusdempent,
13 weflgis@s, 24 wreneaiseEsd Csihg seuGauamaau 4 pr.selld Wiygsmd, Serepd

(a4 2
B 3
© 3

5

11
1
12
(D) 4

JSGS/19
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; e \
16 Slnl])llfy L(:.):GO x 260) -+ ﬁ'—]m] = (260 — "'l‘“J =
: )4 = i

A ek B) 26
‘M : ‘ ‘ (D) 104
H(HEES ((260 x 260) + _ﬁlm} ¥ [260 ‘—]—J 2
104 x 104 104
I B) 26
Q- (D) 104

- 17. A cubical tank can hold 27,000 litres of water. Find the dimension of its side.
(A) 9cm (B) 9m
3 m (D) 3cm

@ g F87 uigeu Hirs@sm igulen Qamererereay 27,000 Sl erafley, g6 LGS DjeTanous

G ITGHT.
(A) 9Q@&.85 B) 9.8
(). 3i1b | (D) 3Qs.5
18. IfAB—l--?l B:C= 1 EandC’ D—E 2 thentheramoA B C=D:is
A 39 6 4’
(A) 4:6:8:10 B) 6:4:8:10
(C) 6:8:9:10 M8:6:10:9
i 13, ' At ) : : _é i
A.B-E.E,B.C =i Guogid C.J,’)'—6 = arafler A: B:C: D &g swwneng) s)?
(A) 4:6:8:10 (B) 6_:4:8:10
(C) 6:8:9:10 @), 8:6:10:9
19. 217x217+183x183 =?
(A) 79698 ; J 80578
(C) 80698 (D) 81268
217x217+183x183 =7
(A) 79698 (B) 80578
(C) 80698 : (D) 81268
B 9 ' JSGS/19
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20. Area of Rhombus =
(A)  Product of dragonal

(B) %(sum of diagonals)

(D) Sum of diagonals

|

x product of diagonals

vl

L

smlsgirsden gy =

(A)  ppeveeldlLisefldn Qupsse

(B) %(@Gmueﬁh'_l_réw;aﬂs&r Fa.(HBE)

(C) %x apenaeilLusaflen Qumsaa

(D) @wsveSh'_L.riJaserﬂsiﬂ (g6

21.  The calendar for the year 2009 is the same for the year

(A) 2013
2015

(C)y 2017

(D) 2021 _

2009-1b 1B BTLSML 1 6THS BLWTiq &7 BIL_SHTIL1q.5(&HF 008 @Y(HSHED?

(A) 2013
(B) 2015
(Cy 2017
(D) 2021

JSGS/19 10



23.

(A)

(D)

The mari&s obtained by 10 students in a test aré 15, 75,33, 67, 76; 5439 123085 1°
Find the arithmetic mean

A) 460 I w6

- (C) 23 (D) 230

@@ Csoieiler 10 wremeuradr Qupm wdHuQuerrsar 15, 75, 33, 67, 76, 54, 39, 12, 78,11
crafled @\gern sat (H& snnaflepws srews.

(A) 460 (B) 46

(E)7. 23 (D) 230

Match List I with List IT and select correct answer :

List I : List II
(a) Kothari '
(b) Raja Chellaiah
(¢) Jawaharlal Nehru
(d) M.S. Swaminathan

Finance Commission
Education Commission

Green Revolution

el il oo

Planning Commission

() (b) (c) (d)

3 2 1 4
2 1 4 3
C) 4 3 2 1
1 4 73 2

ulgwe [ gulguwe Il Lear Qurmpsd sflwrer sleLaw CaibosHasaw

ucguied I L ig e IT
(a) GCarsgnfl 1. #HHsEw
(b) rprgr Qswerewr 2. soalsEW
() sgeuamiemed Cr(m 3. usewlyyls
(d)  enb.arev. seumdprsen 4. HLEGW

(a) b)  (© (d)
A) 3 2 il 4
B) 2 1 1 3
©€) 4 3 2 1
D)1 4 3 2

11 ' ~ JSGS/9
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24. India's major recipient of investment in Public, Private Partnership project is

_ ~ successful only in _
| Road transport and modernisation of airports
(B) Health and education |
(C) Railways
(D) Banking

Qurgisgiop whpb seflumi &l @ ubselound @idur eds el eSO
Gupmieer Gy giewp ' : |

(A) sreow Gurreis@suggg Loﬁ)gtb eSlionan fﬁlaf)a)uréiaseh BAGTOTESD FIOD

(B)  saell pmDd whser Emggé)p)

(C) 7i96Ce grep |

(D) andsgeon

25.  According to Prof, Tendulkar's definition, a person would be trleated a$ poor as on
2004-05, if his monthly income is less than is in rural areas and
Rs. in Urban areas

, (A) = Rs. 440.50 and Rs. 570.75

. A Rs. 446.68 and Rs. 578.8
(C) Rs. 445.00 and Rs. 550.00
(D) Rs. 442.25 and Rs. 552.00 |

Curmrdflwr QL arBesT aemruamoLs uu}-. (1 Losu?ig,shr genyp ererm (2004-05 e L)

SlugyerLw g eumonan donosHed ————————— @epersejd LOHHD FEISEHD

(.- — G neunsa|d @mbHeHmd w (G @hl L i Bieurdr
(A) . 440.50 wpmi> ¢5. 570.75 |

(B)  ap. 446.68 wpmi> g5. 578.8

(©) . 445.00 wpmd 5. 550.00

D) . 442.25 wpmid m. 552.00

JSGS/19 12 S a B



26.

27.

Consider the Statement and Reason, Choose the correct answer from the codes

given below:
Statement (A) : Buddhism fluorised in India l;ecause Asoka patronized Buddhism.
Reason (R): ©  Buddha was a man of royal blood.
(A) Both (A) and (R) are correct (R) is the correct explanation of (A) -
Both (A) and (R) are correct (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is wrong
D) (A ‘ié wrong but (R) 1s correct

QarR&sUul_HeTar aunssd WHMD SMraTsms smsHe CQarar® SCp Qer@asuul(Herer

GO safled QmpHg sflwurer elleaLamw CabEsMH

caumgsn (A) 1 - Gersflen yareund LUSSLHD @b wmesle Q&@ggyg:

smyemd (R) 1 Ussht prgeubssos Geipseui:

(A) (A) whnibd (R) @rem@o el (R), (A) edlpsrer sflwrer aﬁ]mésagsm;e_s Qar(H&dng
B) (A) wpmw (R) @rer@w &l (R), (A) elparear sflwner ellenésid e '
(C)  (A) v @ &M yarmed (R) sMlweve

D) A) sflwde geame (R) w_ @b &f

The Sangam Literature ‘Madurai Kanji’ was guthored by
(A) Nakkirar - J
(C) Tandiraiyan . (D) Nedungilli

- Mangudi Maruthanar

FRIGEHT HIOSaT6 gmI&EsTEhsl e Hree er(pdluieui

(A)  m&&ym (B) Lorrr'éJ@qu_ LO(HGEBTTIT

©)  @erpdeouen D) Qp@rdraf

13 - JSGS/19
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28.  ‘Deggcan Education Society’ was founded by
' _ G.G. Agarkar S (B) M.G. Ranade
(C) N.M. Joshi o " (D) Dr. Atmaram Pandurang.

‘QLsanen ergpeGasen Garans_ g e :_r_F,@JéﬁluJa.rr'r _
(A G.G. ssnhet | - (B) M.G. granGL
(C) . N.M. Cgrad) | ' (D) Dr. yéwrd LraT@ TRl

29. Which among the following Acts Opened India for free trade to all merchants of

England? _
% Act of 1773 ' - (B) Actof 1784

Act of 1813 - (D) Act of 1919

Spssrapibd sLLRisefld ag ffle amilsisEnse ssbilywne ‘Guauﬂ‘sg,,é,]emw @ pwineiler

gouss afleEsssi? _ |
A) 1773 b e sLL D B) 1784 b e FLLLD
(C) 1813 &b'—“ e (R L1 D) 1919 =y 1b et LD

- 30. " Poona Sarvajanik Sabha was establishedby
M.G. Ranade B) Tyabji
(C) Metha - . (D) Tilak

E;mrr'&r'réj@rreoﬂés geuienen Bmefluici
(A) M.G. prenGL - B Hunigd
(C) Cuwssgr - - D Heosi

3l. Sahara desert is fhe _
M Hot desert Biome ' (B) Cold desert Biome -
(C) Alphine _ _ (D) Desert Biome.

FETTT urrmma_lml.b érsinug; _
(A)  GeliL uTeueT Gpaa@ina (B) @afit ureaaan Gyaminey
(C) yevevuan : D) uneatcuans CgmEd )

JSGS/19 14 o - | . B



32.

33.

34.

Which one of the following mines has the best quality of coking coal

(A) Bailadila -a!f Jharia
(C) Raniganj 3 (D) Singrauli

Yemeumid srrismisafley ermi@ srwrear Qarsdl flossh dasdng ?
A) Quuemgumr (B) sgrflur
(C)  grenflaEns (D) Amgred

Which is the largest port in the west coast of India?
(A) Kandla Port Mumbai Port
(C) Kochi Port - ~ (D) Marmagao Port

@ndw CuonE sLpseamruilar WsLQulw genpsd erg)?
A) sarlerganipsd B) e DD
(C) Qsr&d gyIemmpsd (D) . wrwCsreur

Jhelum River Originates in the State of
(A) Himachal Pradesh

d Jammu and Kashmir

(C) Punjab

(D) Uttar Pradesh

s B 2 HUSHWTEGL wrHled
(A) Q@urése 9rGseD

(B) g wHYD sreySIT

(©) ueperl

(D) 258y ACsed

15
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35.

36.

37.

- 38.

The Prime Minister is the head of the :

1 Finance Commission _
2. National Development Council
3. Cabinet Secretariat :
(A) 1,2and3 ~ (B) 2and3
- only 2 | . (D) Only1

"Qrsw wHHM samaeunts G mESnmT

1. HE o, enemmwbd
2. Csflw L Gy

3. Callar . Qewamer SigIelasLd

(A) 1,2 w0pmb3 ' (B) 2wdHmb3

(C) 2w D) 1w o

Who among the following introduced local-self-government in India?

(A) Lord Mountbatten N A Lord Rippon

(C) Lord Canning ' _ " (D) Lord Macaulay

Sipsaa ainsaild Giduredd e drerm’ 4 wirsmis Senwliel Asrareubseur wWrr?
(A) weyerr GuiLem gy . (B) fAduer Gy

(©) Gsefli dyy (D) GussayCe Yy

Which of the following articles of the constitution deals with amendment procedures
to the Constitution of India?

(A) Article 350 _ (B) Article 256

(C) Article 143 | ) Article 368

@ BHu am&uﬁ]soaémﬁﬁ!sb Fmesw Qsrar(ieur ang 698 LwenLDSSLIIHEDS?
(A) 14350 . ~(B) <94 256

© ofH143 D) 98368

Where was the "Brics Smart Cities” conference held on August 17-19, 2016?

(A) Delhi’ . ~ Jaipur

(C) Mumbai o ' (D) . Hyderabad
Sp&evl 17-19, 2016 & A& eowril Ay wrEprh peoLQubp L 1b
(A)  Quéved . B) Qg

©C) @weu : - (D) eapgrmuns

JSGS/19 ' | 16 A | B



39.

40.

41.

42.

In which of the article deals the state legislature

(A) Article 167 (B) Article 168
(C) Article 169 - (D) Article 170
wrble s wapgegt updl ebs edlflwrars GHLEBEDg
(A) 4 167 eugy 94 (B) 168 aug &4

169 augy a4l (D) 170 eugy a918)

Which one of the following Bills must be passed by each house of the Indian
parliament separately by special majority?

(A) Ordinary Bill (B) Money Bill
(C) Finance Bill ‘M Constitutional Amendment Bill

TGS LoGgrr,_srr @Sl urgmEpamSSeT Q) aemsua;aﬂgum g,aaﬂggsﬁ]@m oy
Gumburerawuliie HlapCeunmiiuL. Geue(Hb?

(A)  snsmyewr wCsrgm B) uvewr wCarHT
(C) H4 wCesrgm (D) <wdlueewliL sl L Hmss wCangm .

Which city organised 13th Agricultural Science congress in India?

M Bangalore (B) Chennai
(C) New Delhi - (D)  Coimbatore

13 augy @bHw efleusmu Sydlefwied gl L b pevL_Gupm @L1b 61gy?
(A)  Qumiisesm (B) Qsenenen
(©C) yg Ceed (D) Casrwugpsgnt

Hoy many election commissioners are there in Election Commission of India?
3 B) 4
© 5 D) 6

@pHw Caigser pmarmusdler crssmar CoHTE0 phmaETUITSEET 2 dTeTelT?
@) 3 (Bt
© 5 D) 6

17 JSGS/19
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43. NITI Aayog has signed pact with which company for deploying Al tools in
agriculture & healthcare.

(A) GOOGLE ' . A MICROSOFT
(C) INFOSYS D) TCS

erg Blimeuansg e B puné eSewsny wWHMD FETHYT @émuﬂww Cobudss dewpens
Bamaniey melsmar LweILDSS 2 LMLy s Qeisg Garar_g?

(A) e _ (B) - aw&Grrenm i

©)  @enCGureden | D) .H.eran

44, Which district of India become first ever carbon neutral district?
~£) Majuli, (B) Sharanapur
(C) | Kanyakumari (D) Gaya

Bduimeflen (s sriue HElee Wral Lib eTg?
(A)  ogOd (B) egpmamyt
©) senaflwn@Lof (D) sws

45. What does pluvioineter Gauge measured?

(A) Density ~ (B) Heat
(&) Plot M Rain
LEeBeIGWMBLLT srsenar BieTésl LuaLOEADE?

(A)  Lrgd 3 B) Qeudiub-
©) dew : D) wep

46. Which first lady of united states of America became the nun of the Ashram of
Shri Aurobindo and took name Nistha?

(A) Abigail Smiti (B) Hillary Clinton

(C) Martha Jefferson w Margaret Woodrow Wilson
SPwfssnele aThs s Queimoenf 2705CsT Sgosded Hevir aem Gluu.:@l_sm
ginefliuns wrhlemi?

(A) =9esd mvuSh__Lq. '(B) afléeri é]crﬂdm_dn

(C) wriggr Qguieve (D) warar ey Cpr edégen
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47. T}ée 13tt ECO summit was held on 15t March 20177

48.

49.

Pakistan ' (B) India
(C) Srilanka (D) China
201710 <pei(®) Wit WIsDh Gemd prafld 13-aig BECO 258 wrpr® SN
peLCuDDg?
A)  unélevgmen (B) @mdwr
C) Seomst (D) &err

Who is the first women President of Singapore?
(A) * Taslimah ¢ Halimah
(C) Sithimah (D) Tamimah

Smsiy prignarer wpse Quearr furnas CsirbosHiEs L L euir wmT?
A) sevellom (B) ammeSlom
(C) . &gdwr : (D) sbwr

Which scheme launched by Prime Minister Mr. Narendra Modi on April 24, 2018? -
M Rashtriya IGram Swaraj Abiyan (RGSA)

(B) Sarvasiksha Abiyan (SSA)

(C) Rashtriya Utkar Siksha Abiyan (RUSA)

(D) Van Dhan Scheme (VDS)

2018, guge 24-b mmer Gpswir pCrndly Gomg  jeursenme srrrf,.g,'e_i; S gleusd
MEUSHILILL G)?

(A)  greplMw Symb eveuyrs siGwmer (RGSA)

B) agieudiay onQwmar (SSA)

(©) grayAw o (s Niay onGunar (RUSA)

D) GCeuen gren Hb (VDS)

19 JSGS/19
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50. Carboxy peptidase enzyme contains the metal

(A) Iron (B) Cobalt

‘l Zinc (D) Magnesium

snmunsed Quiig CLelfléy 2 crer 2 Camsid
A) @mowy | (B) Gsrumel

(C) sssBTHD . (D) wsefHub

51. Which one is called Buckminister fullerene?

(A) Graphite - (B) Diamond

Y @) Cyp

orgy usdleflev i Leveflen eramm empsasLBE DG ?
(A) é’:]UITGD.I__JI'_ i (B) eeurd

©) Co D). G,

52. The nitrogen compound used as a rocket fuel is
\ﬁ Hydrazine (B) Hydrazone
(C). Carbazone (D) Ammonia

QursQa erflQurmermsls LweTLBL bl yer Garob
(A) ean_géen , B) eanL_jGgmen
(C) smuCsmen (D) owCurafwr

JSGS/19 20



54.

55.

The reactions of glycolysis occurs in the .
(A) Mitochondria and require the presence of oxygen
(B), Chloroplast and do not require the presence of oxygen
J Cytoplasm and do not require the presence of oxygen

(D) Peroxysomes and require the presence of oxygen

Slenengameiledlen-elenarsar manL GLmeus)

(A)  e@wl CLrsran Awurelé wHmb H&Hn6a CsameuiuBb Hlenauie
B) uvsnsaissde wHOIDL yEHner Comauuiaons Hlaeude

(C) s CLmlermes8e wHHID p&ESnea Comaddvang Haauion
D) QuyrsfGevmile wHmb A&HRa CamauiLBL Hleaauild

Which hormone causes emotional disturbances?
(A) Thyroxine (B) Oxytocin

(C) Vasopressin Adrenalin

earps apmiGlonearme e aniédl euwliul L Qsmhsrese gnudSsdng
(A)  egrmeder B) <sed Lrgedle
(C) eaunGsmQydlen : D) o MNeareden

A codon is a sequence of 3 nucleotides on

4) tRNA 4/ m-RNA

(C) 1r-RNA (D) hn-RNA

Garren erenug) @sen Qamife eperm HluyselCunamL Hs6r @
(A) 9. GT60.6F (B) erib.yir.crém.qy
(C) yir.gyi.erem.er (D) eréeren. oy m.6reu.6f

21
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56.  The scientist who experfmentally proved the existance of positron is
(A) Fermi ) Anderson
(C) Bohr : (D) Bethe

urdl_greflen @@mLueamsg Camsanatepad Hlapltss idledlue b et
A)  SQumA B) yergen
(C) Gunm (D) QusCs

57. Which of the following pairs does not represent quantities of identical dimensions?
(A) Angular momentum and Plank's constant
Moment of inertia and moment of force

(C) Work and Torque

(D) Impulse and Momentum

-5(‘3;9 Qar®sstulHereareundled 58 Lifiren eumiLiuTL L& Carargyrs Cegmy. argi?
(A) Garewr 2. hsb LHMID Garmidg wrHled)

B) Heoew Hmuusdne womb elamsular HBLLSSDeT

(C) Ceuewar wHmMID H(HLiLelens

(D) sawssTEEGetlans LHMD 2 HSL

58. Reluctance is measured in
(A) Ampere — Weber : J Ampere — Turn / Weber
(C) Ampere / Weber (D) Weber / Ampere

Blergwssd Ggemme iaredlambd _
A) <wlwr— Qeuur B) <L Qwir-a&Hm/ Qeuurt
(C) < Qur/ Qeuurt D) Qeuuir/ 1w

JSGS/19 22



59.

Match the List I with List IT :

(a)
(b)
(©
(d)

(A)
. (B)

V4
o

List I

C.R. Formula 11
Wavell Plan 2.
Cabinet Mission 3.

Mountbatten Plan 4.

(a) (b) © (@

2 | g ] 3
1 2 3 4
3 4 2 1

4 1 A L8

List IT
1947 A.D
1946 A.D
1944 AD

1945 A.D

ulgwe I g ulqwe IT o s Qummss)s :

(@)
(®)
(©)
CY

(A)
(B)
©
()

uCigued I

8.y FLid 1.
Geusued Hli_L1b 2.
GCs9er @ 3.

weyer Gui_Ler S b 4.

(€Y ® (© (d)

2 1 4 3
1 2 3 4
3 4 2 1
4 1 2 3

uligwied IT
1947 A.D
1946 A.D
1944 AD

1945 AD

23
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60. Which of the following Act introduced the ‘Dyarchy’ in the provinces?
(A) The Indian Councils Act of 1892
(B) The Indian Councils Act of 1861
(C) Indian Councils Act of 1909
M Government of India Act of 1919

wrhlonseie @il o & gpapeow DMpsiiuBsEu s LLb eTg)?
Q4) @ndu seyandley s b 1892

B) @b seiardle s L 1861

(C) @ndu seyendled &L 1b 1909

D) @pdu siyes s Lib 1919

61. Ifi.1_1. 1 ihen find the valueof
5 x & 1.25

A4) 15 ®)

I 25 D) 35
Trsedasstiol. 1 . : : :
g; =;:ﬁ eTatleh x —eur L Hresr
Aa) 15 B) 2
©C) - 25 (D) 3.5

62. The number which exceeds 16% of it by 42 is
50 (B) 52
(C) 58 ' ‘ D) 60

P TRTEIL 6T 2iHG eranTeniian 16% g Gonss Hanl @b eredr 42 erafle, b cTeiT
(A) 50 B) 52
(C) 58 D) 60

JSGS/19 24



63.

64.

£ 65.

Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If the interest rate is
increased by 3%, it would amount to

(A) %1056 B) 71112

(@F w180 ds_fm

. 800 yang) safleuguie 3 aumpLgdler ep. 920 < flmg). eumL aul iy 3% Q_u_lrrg,'e_ryuul _LTED
2Gg sragsle fan_&@b (grans ereucuere]?

(A) 1056 (Bl

(C) 1182 - D) 7992

If A is to the south of B and C is to the eaqt of B in what direction is A w1th respect
to C?

(A) North East (B) North West
(C) South East South West

Bég Qg,mé]w Au_|u: Bsg ﬁlzpasaf}en Cyp @mpsme Ceow QuImss Aerg)g Henguled
INGEICY

(A) GUL_aS@féWQ$@ B) aLsE-CuHE

©) Ospe-dlypse D) CspE-Cwpe

Find the compound interest on Rs.1000 for 10 years at 4% per annum 1f the interest
1s calculated quarterly.

) 486 (B) 479
()R 4005 _ ' D) 500

FSTOTRTHEQETM (P Ul ly SIS ILILLTED, . 1000@@ 4% gl (h eully e355Sed
10 g arhsafle S &Eb sl () el iy cTeualaTe]?

(A) 486 B) 479

(C) 400 _ : (D) 500

25 JSGS/19
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66.  What is the probability of getting more than 3 when a dice is thrown?
1/2 o (B 13
© 2 | D) Ve

(I UsenL a@l'__l_L'JLJ@LbGurrgj, 3nE Cwed lpausne ﬂa;'gggaseq Gremen?
@ 1/2  ® 13
© 23 | D) 1/6

67 - The sides of a triangle are 8 m, 10 m and 6 m, then the area of the triangle is.
B 2am? "~ (B) ‘18 m?
(C) 36 m2 - D) 72 m?

(6 (p&Canamsdler Lss .aierreuass‘n 815, 10 8 wpmib 6 8 erefléd Sien LITLILGTEY eTaleuaTey?
A) 2482 . ' (B) 182 |
(C) 36152 - - (D) 7282

68. - The population of a town is 176400. It increases annually at the rate of 5% per-
annum. What will be its population after 2 years? ' '

(A 194781 . B) 194681
(O 194581 aﬂ 194481

@ ey DéeaT Qzrens 176400. UBLSHDEG 5% wesd Qznens iHafsfng GI‘GOﬂG.D.
2 pemPs@nsEl Upg BardHlen wasdr Agreans aearaiens GmE@n?
A) 194781 . (B) 194681
(C) 194581 | (D) 194481
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: 1 1 ey
69. . -
o3 934 5456 456 is equal to

A 2
30

®

© %g-

) %

L ) & &S]
1-2.3 2.3:4 3-4-5 4-5.-6

@ =

®

© =

® =

70. TthCFOf4><27><3125,8x9x25><73nd16x81x5x11x49is

180 -

B) 360

- (C) 540
(D) 1260

4 x 27 x 3125, 8 x 9 x 25 x 7 wpyib 16 x 81 x 5 x 11 x 49 @er BLGOLM Qug LL fiws

SIS
A) 180
B) 360
(€) 540
©) 1260
B ' 27 JSGS/19
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71. The measure of each exterior angle of a polygon is 24°. How many sides does it
have?

A g B D
15 ) 16

@ uGasransdler eeubloimm @éuaﬂuqrpés Camamrapd 24° erafler iBg LCHTETSSINE
THSHME LISSHMBIGET D_6TeTen > : :

@) 18 - ®) 12

©C) - 15 : : D) 16

72.  The list price of a frock is Rs. 220. A discount of 20% on sales is announced. What is
the amount of discount on it and its selling price? '

@ioosp (B) 33,98
(©) 55,183 e ) 4

@@ 2L wlar uligwe eleme 220 muml. ger elpueamerde 20% semEpUly eTeTm

<iMlelssuLl(HeTerg). 2 e ulen Goe HeT(ehLily cTeUeaTE? Dig6rT 6SlHLEHET aSanay Gremen?
(A) 22,86 . (B) 33,98
(C) 55,183 : (D) 44, 176

73.  Calculate the median for the following data :
Mar.ks 20 9 25 50 40 80

No. of students: 6 4 16 7 8 2

A) 50 ' ' M 25

(&) ety : : (D) 35

Spsaramb Letafl eleursdnsmear Qe Blane 2iaTe s STenTs.
S LQLiewTgeT : 20 9 25 50 40 80

wreneuisaien caraflses: 6 4 16 7 8 2

@ 50 ' ®) 25
(@)F 6 D) 35
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74.  The Monopolies and Restrictive Trade Practices (MRTP) Act was passed in the year
j 1969 ' (B) 1970 -
(€) © 1972 . (D)' 1973

greunarn HMID cualls HL6ugEmE&ET SHLILE FLL D QubdDUuL L e
(A) 1969 (B) 1970
(@) 1972 (D) 1973

75. Match the following :

List I : - List II
(a) ‘Ninth plan 1.- 2002-07
(b) Tenth plan 2. 2007-12
(¢ Eleventh plan 3. 2012-17
(d) Twelfth plan 4. 1997-2002
Code: . -'
(@) (b)+ . (e)iui(d)
A 1 2 3 4
®B 3 2 1 4
: M B ) 2 3
) 4 1 s s
- aflwrs Qummea s :
el  Ledl
@) geaLsTalg S Lb 1. 2002-07
(b) ussTeug HiLibd 2. 2007-12
() udlCarmyeug) S L b 3. 2012-17
(d) uereflyer_reug S b 4. 1997-2002
 GPSH:
(a) (b) (c) (d)
T e
(B) 3 2 1 4
) 4 1 2 .3
D) 4 1 3 2
B : 29 JSGS/19
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76.  Equtable title refers to
w the title is transferred by deposit of security without registration of its
transfer.
(B) title is transferred in the name of two persons in equal proportions.
(C) the title transferred without consideration.
(D) the title transferred in the name of a person who has attained the age of
18 years.

&0 2 flenld euand erans GNISESIng) eremmmed

Q) peuamomerg) USWLLILTDE FFLTE Lnrrrri)m'é;‘é)rj)@ s EGLELITG
(B) yeuamtoneng @uewr(h puiser g & elfssde wrhmib Cung
(C) ° peuemrionang) 61hg TS TLUMTILD @EEMOM THMILD (ﬁun@

(D) Speuanorarg) ud Qe ( euwig s wnseufler Cufle wrpmbd Gung

77.  Which of the following companies has been purchasing 74 percent shares of
Paradeep Phosphates Ltd (PSU)?

(A) = The Royal Sundaram Group (B) The Reliance Group
(C) The Tata Group @ The Birla Group

Qereumd Bpeuamhsaiicd LmySL LmebGUL 6 ABALL (Qum.g.)-ar 74 e56is LREGS®eT
cumhSlwjeTeng) 6Tg;)? :
(A)  gmwe &HSID GEPLOLD (B) MAevwérmen @b

(C) cmiim @b (D) Grer @b

78. Maghatma Gandhi National Rural Employment Guarantee Act came into force in
J 2005 B) 2004
(C) 2003 i (D) 2006

wanswr &hd Casflw oays (SG\JmsﬁaJnt[Jth o mFwefllliyg HLd poLpansE ubhs
& L S o & HewL_(1p & <ubd

<2p,er(h
(A) 2005 (B) 2004
(©) 2003 (D) 2006

JSGS/19 30 B



49,

- 80.

81.

Match the following and select the correct code given below.

(a) Atmiya Sabha 1. Gopalakrishna Gokhale
(b) Dharma Sabha 2. - H.N. Kunzru

(¢) Servants of India Society 3. Ram Mohan Roy

(d) Seva Samiti 4

Radhakanta Dev
@ O - © () '

Ay 2 4 3 1
(B) 4 2 3 il
3 4 1 2
D), 1 1 2 3
Spsramueihiener flwns QummsS, sflurer elenL_amws Caiifh Q5B és.
(a) s sun . 1. CGarune Smagar CamsGa
(b) s suT ' H.N. geeven

S
() Qemeuer’ = @pHur Gerensiy 3. @b Gomgesr gmit
(d) Geeur g8 4

Y (b) (©) (d)

prgnarans CHeu

A) 2 4 3 1
@) 4 2 3 1
(@) 3 4 i )
M) 1 4 9 3

~ Who translated the Bhagavat Gita and Upanishad into the Persian language?

(A) . Niamatullah (B) Abdul Hamid Lahori

- Dara Shikoh .~ (D) Ghiyas Beg
usausSEms@WILD, 2 LB ghsmarub LTrés Gwmfluie Qumf Quuiigget wm?
(A)  Huwsgder (B) <=ilgied anilg) ewr Canml :
(C) smma§sCam (D) AwrevGlus

Who introduced the musical ragas of ghora and sanam?
(A) o Pir Bhodan ' (B) Raja Mansingh
Amir Khusrau (D) Firoz Tughlaq

Gamym omib Frelb ergyd UHw pramisemer SidlapslitBdSweurr wmi?

Q)  QiCunsmar (B) ey el

(C) subr@evm : (D) QuCrmen giders

31 : JSGS/19
[Turn over



82. Match the following : :
List I ; List II

(a) Khadar 1. Salihe Soils
(b) Bhangar 2.  Tropical Chernozems
(¢) Regur g, Newer Alluvium
(d). Usar 4. 'Olde.r Alluvium
@ :ib) () (d)
j 3 4 2 1
B) 4 3 1 2
C) 4 2 1 3
(D) 4 1 3 2
QuT(BEEIs
Lll_._Lq;llJG‘l) I uligwie IT
(a) &nai 1. 2 _6UIT LDERT
(b) urmmsr 2.  wer QerCGenmewd
(¢ Cpaar 3. LW euatied e
(d) o it 4. um@u GUEHITL_6)

() ® © @

A) 3 4 9 1
®) 4 3 Ay
©) 4 2 1 3
(D) 4 1 3 2

83. The Headquartes of the central water transport corporation is located at
~ (A) Kolkata (B) New Delhi
Noida (D) Guwahti

WSS W ﬁ,r‘rmg’jl Curé@eurss) a;uc.pa;ggleh SEBOELWSLD 2_6Ter @)L LD
(A) Qsmosssm : B) uys gl
(C) Qmmucm (D) Ga;ma;rr,&,,e_ﬂ
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84.

85,

-86.

A deadlock between the Lok Sabha and the Rajya Sabha calls for a joint slttlng of

- the parliament during a passage of

(1) Ordinary Legislation

@  Money Bill

(3)a Constitution Amendment Bill

\4 Only 1 | o (B) 2and3

(C) l1land3 _ ‘ (D) 1.2and3

umprEnLapSSer sat AT ahs wCaTsT QanarReuheusnE LweauBssLLHH DS
(1) sngngemr wGargm '

(2)  uewr wGengm

(3) @;ljélu_zsvem.duq s S(m5s wCensm .- .
(A) 1loc@b - (B) 2 wpmybd 3
) 1wipmw3 (D 1,2wHmb3

The Report of the Public Accounts Committee is presented in
Lok Sabha - : (B) Prime Minister
(C) The President (D) Finance Minister

Qung semeEs Gyl siflsms s s ILHas
(A) wasareneu . (B) dGngwe wiHd
(C) @qmu&g, gmmmrr _ D) HH semwvéet

Whgpwas appointed as the second Vice-Chair Persdn of NITI Aayog?
(jw Rajiv Kumar - ~ (B) Ramesh Chand

(©) Arvind Panagariya | (D) Bibek Debroy

B S Guins -6 @QUeRTL_MeUS HIMSTH SIS ‘IﬂﬂJLﬂéiail;lL!I:_I_G]Jfl‘ Wi
@) yngheis o (B 1Guwey s
(C) - sweips Lenmafwm (D) A@Cus CLigmi

33 . _ JSGS/19
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87.  Which one of the following is not correct? Part IX A of the Constitution of India
pertaining to the Municipalities provides. '
(A) that Grants-in-aid be made to the Municipalities from the consohddtod find of
the state .
yA) for setting up a separate Finance commission for the Municipalities
(C) for setting up committee for District planning :
(D) for setting up committee for Metropolitan planning

&0y Qar(ssliul_(heraranauseliey argy sflwnang Qowma? uEs [X A W, psyr_feow u@rfﬁ].

GG Hensudied
A) payn seEpsEe wreflu 2568 wrflekseflar ‘Qg,rr@:ilu Bl wig S e mbs)
Qar@s&ssuu@BEng ' :

(B)  parm_AsEnsCseanm seflCluwmny Bl Spameamub o (Hheurs@ausn(E
(©) wraulL HlLsdde @1 Simwés
(D)  Qu@pwrpsy HLLBISEREE G DES

88. The part Eleven of the Indian Constitution describes
) Centre-State relations (B) The Union Government

(C) The State Government (D) Tribunals

@Qrdlw sirdlweevliler ugGamyreug UGS agmean LPH efleulléESpg)?
A) wsHwu-wrhe 2 pesdr B) wsHw FETESD
(C) wrfle sgeTmIsD (D) Sriumwubd

89. In which one of the followmg cases, the supreme court held that India is not truly
fedgral?
. The state of West Bengal V Union of India (1963)
(B) Ratilal V State of Bombay (1954)
©) Azeez Bashu V Union of India (1968)
(D) SridJdagannath V State of Orissa(1957)

Spsaan_eumbled Gr‘lbg cupsdled @BSHlum 2 arTenLowlTeT sl L Sluda e 2 FghSoanmd

Sriueigsg)?
A) CunE auis 9ire V wgdu oipe (1963)

(B) psdlered V ubumi oigs (1954)
(C) @gSevuns V wsHw oiys (1968)
D) P Qmsnprs V efler ois (1957)
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90.

Which bird name was originally suggested for FIREFOX, the browser?

(A). Blue Jay B) JUNCO
«f ~ Phoenix (D) Thunder bird

ahsLl - upeeuuden  GQuwit 'Suwd  c.uTdeD'  eenn  Quen@unhEnsE @ittt G
uflbgirssIulLg? .

(A)  yes Gy _ (B) smenCam

(C) Seflgen D) senit Guil

91. ych 1s India's first Island district?

92.

93.

Majuli : (B) Andaman
(C) Maldives : (D) Damn and Diu

@QpdHwrelen s oy LIl L b 6rg)?
(A4)  wgod : (B) bgwmrer
©) DTS 56’4 (D) Lmwoen LOHMILD LY,

Which of the following 1s measured in reams?
(A) ., Land (B) ‘Jewel
Paper | (D) Ribbon

fib Sio@s LTRSS SaEsILED QUIHET 615)?
(A) 'r_ﬂsn}b (B) pes
(C) srélsd D) Aduer

Which skin care brand derived its name from Latin expression 'SNOW WHITE'?
(A) Circumference Nivea '
(C) Bio effect (D) Verso

wgslen Qomfufer 'vCrT Uil erem GerHEnm s pedis Gu@mu& Qareur Ggme
urmofliy Gyresr® erg)? ) : '

(A)  &TESID.HJeTE “(B) Hlefwmr

©C) uvCwrge.usl (D) QeurGem
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94. Who was Sworn-in as the President of the Reﬁub]ic of Honduras after 2017
presidential elections?

(A) Heinz Fischer _ _ (B) Alexsfmdcu Luka%henko
Juan Orlando Hernandez (D) Dilma Rousseff

@a'_n)nsm@rjrrsm Gywrde 2017 yemd pewl_Gug);D GRWIS S@EUELT Gg,rrg;eﬂsu GG Wrs
EEGVELTE Gg,rr;a@gs(\a;a;uuu_mrr wiri? : ‘

(A4) Qamuiesien ooiflag T (B) &GGDG'S&H.@OT.I_J:F s1leenGam

(C)  gBeurren yreoranGrr Qemitanmem..cv (D)  Hewr Gynds.l |

95.  Inthe following countries, which country’s assembly pa'.ssed Hindu marriage Bill?
(A) Afghanistan | (B) Iran ‘
w Pa]ﬂstan : _ (D)  Bangladesh

Spsad_ r;,rr@a;a‘ﬂsb b BT, Qb Hmwens sLLso5E et aJ;rbgjs'\Tm@‘?l
(A) C%L:a;rrsnﬂmg,rré%r (B) mymer ,

(©) ur@ebsrer . D) uissaCes

.96. The Supreme Court of India bans the use of five metals in Fire crackerq the five
" metals are

\l) . Lithium, Mercﬁry, Arsenic, Antimony and Lead
(_B) Irori,'Silvér, Copper, Mercury and Lithium
(C) Mercury, Lithium, Lead Copper and Antimony
'(1)), IAnti_m_ony, Lithium, Silver, Iron and Lead

@pHwu ié&ﬁ;ﬂm@ml.b GThg b ‘s 2 Garsiisamer u_l'_l_ms%r cuansaEaic
LWL (HESSE Fal N5y eTanm SanL. il Absarensg).
(A OsSwibd, Qwigh, o isells, %mqmmﬂ LOMMID .5rrﬁu_|m
(B) @@LDL{. Sevauir, smblgb, QoM wHmD Qﬂgjﬁmm
©)  Quieh. SHuo, s, sndigb wHpI> ey e
D). yamgoanfl, Ssslwibd, Seeuir, @by lb,r_i)@gLB_&.rrﬁu_lLb
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97

98'T

99,

- 100.

The Four interlinked rings of the Audi Company -Logo represents its merger with 3
other companies namely Horch, DKW and

(A) Volswagon ' (B) BMW

(©) FORD - Wanderer

Sl ﬁ@mmg}@e&r apsHenrulguéter Breng, @mmmwmurﬂa@ (@gm'ré. DKW wimb —
erenp epengy Hnjeuaniaset Ly fneietsgiar Qaeisas GHLAGEng.

(A)  GeurdenGeusen . (B) \9.erib.L_uyamy

(C)  SCBumml - (D) eumengm

Which airport has become the world’s first airport to completely operate on solar
power? '

Cochin S _ (B} New York
(Cy Lpndon S - (D) Tokyo

e Gflw Lﬁlc&r'&éﬁuﬁieﬁ apad @ukiEn e eflrer Hlaawid &mmﬁ’@d‘rm BETLD 6T8)?

(A  Qaned _ B) Huyywris

(©)  weam_én | ' D) CutsAGw

Which is considered as an important indicator of poverty in ahy society?

(A) Economic Wealth Economic Backwardness

(C) Poorin Economic D) Economic_Growth}

. ThHS &(bag,.rru_lgﬁgmb QUDIENLD (T @éseﬂm FL16SM g Tan SHSLUGE DS
(A)  Qungeragry Gedeud -~ (B) GQummertsry Garaneni_ e

© Gun‘@mrr"q,m;rg‘é,]d):qém%p_ (D)  Quagerngny eueridél

1n India the human development index (HDI) for the year 2017 is

(A) ] 0.609 ' o (B} 0.630
_ (C) 0.607 o )} 0.640
G pdwmelled 20171 %GﬁTLq.GUT weflg aemisd GHluiH
(A) 0.609 : : (B) 0.630
(C) 0.607. (D) 0.640
37 o  JSGSN9
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Read the following instructions carefully before you begin to answer the questions.
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12.

13.
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IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.
Answer all questions. All questions carry equal marks.
You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.
An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.
You will also encode your Question Booklet Code with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.
In the Answer Sheet there are four circles @) ,(®). (© and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you ha:to mark as follows :

ON NONG)
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded, you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.
In all matters and in cases of doubt, the English version is final.
Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. _
Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




